Velocity

Patrick is playing chasing his sister, Stacy, and he runs after her who is 100 meters away.  It takes him 20 seconds to catch her, what is his velocity.

A 400 meter race, that’s one lap around the track, is won in 50 seconds, wow.  What is the velocity of the runner?  

Richard Petty’s race car travels a distance of 500 meters in 30 seconds, what is the velocity of the car?

A Mack truck is traveling due east for 200 meters for 20 seconds.  The driver then drives north for 500 meters for 35 seconds, what is the average speed of the truck. 
Fido walks around the block which is 1600 meters in takes him 20 minutes, what is the velocity of the dog.
Acceleration
An object goes from 35 meters per second to 75 meters per second in 15 seconds.  What is the acceleration?

An object goes from 65 meters per second to 25 meters per second in 15 seconds.  What is the acceleration?

An object goes from 60 meters per second to 75 meters per second in 15 seconds.  What is the acceleration?

An object goes from rest 75 meters per second in 18 seconds.  What is the acceleration?

An object goes from 45 meters per second to 95 meters per second in 20 seconds.  What is the acceleration?

An object goes from 10 meters per second to 85 meters per second in 30 seconds.  What is the acceleration?

F=ma

A 25 gram object changes velocity at a rate of 3 meters per second squared.  What force is needed to do this?

A 55 gram object changes velocity at a rate of 7 meters per second squared.  What force is needed to do this?

A 105 gram object changes velocity at a rate of 15 meters per second squared.  What force is needed to do this?

An 85 gram object changes velocity at a rate of 12 meters per second squared.  What force is needed to do this?

Charles

A gas has a volume of 3 liters at 20°C.  The temperature is raised to 60°C.  What is the new volume?

A gas has a volume of 18 liters at 10°C.  The temperature is raised to 50°C.  What is the new volume?

Boyles

A gas has a volume of 3 liters at a pressure of 400 pascals.  The pressure is raised to 600 pascals. What is the new volume?

A gas has a volume of 16 liters at a pressure of 200 pascals.  The pressure is raised to 500 pascals. What is the new volume?

density

An object has a mass of 35 grams and a volume of 5 ml.  What is the density of the object?

An object has a mass of 65 grams and a volume of 35 ml.  What is the density of the object?

An object has a mass of 25 grams and a volume of 40 ml.  What is the density of the object?

An object has a mass of 15 grams and a volume of 25 ml.  What is the density of the object?

